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-_r--_'_-A)ﬁetﬁu” _B)fr_action_s_"f":';_-_'.'_-;C)petulant D)affable S

.'3'.P10fdne : I A e D e e e
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-Remlss g 3' R

'.A) neglectﬁll - ': B) caleful b C) nostalglc : D) repetltlve - |

- Dlrectmns Q. NO 17- 20) Mal k the correct prepcsmon to bc filled in the gap

17.

18.

_The company 1s crying - for f1e3h new talent

._A)at EENREE B)m R C)out D)off

The fne ﬁghtcls had to brcak - the docu to reach the people uapped lIlSlde.. |
“A) out o B) wath | o Qoff D) down
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19.
20. . ' :
;_A)out I B)off IR C)of SRR 'D)on
21

1:24_,'

26
Y

He finally managed to break free _ his attacker,
)from B) with Cat - Dyon ..

The functxon has been put

E Whlch Commtssxon advocated the estabhshment of a pelmanent Intel State Councﬂ

: .ealied ‘Inter- govemment Councnl‘? : o
_ “A) Sal}\aua Comm]ssmn R B) Punehlu Comnusskon '_ R
-C) Radhal\nshnan Commlssmn R o D) Mmly Commlsston

.The layel of atmosphele Wthh is used f01 telecommunicatlon is

o A) iroposphele _ B) Ionosphere C) Thennospheie D) St1atosphe1e R
_-Wluch one of the followmg is not a depal tment in the Mlmstry of F mance" . '_ . RS
'--A) Expendltuie o B) Economzc Affaus C) Banklng D1V1s1on D) Revenue DU
.'.The Aswan nghDam 1siocated in S ;__ _:_ i | .' . ;
+2A) Sudan, A B) Is_1ae1_ S } S COUSA ._D)_Egypt RO,
Kaznanga is famous fm i [ :' .; g i A
".'.A) its Rhmocelos B) its Tlgei R C) it_s Bi_tjds R .: D_) its Lion
'Robustalsavauetyof L :' e B S
e :-A) whcatpzoduced in Africa - _"-_B) coftee ploduced mAfuca i
' ..'C) 1lce ptoduced in Afum : S .D) tea ploduced in Aﬂlea
: _.Wthh one of (he foliowmg is not conectly matched : . L
- A)Rohtang - Himachal Pradesh .~ 'B) Palglntwhc;a]a R
0 Nathu La— Amnachal Piadesh : D) Llpulekh~Utta1akhand
Wlueh of the foliowmg gl()llp of gases eontubute most to the ‘(neen Ilouse Effect e -
A Ammoma and Ozone ' . B) Calbon Mono‘nde and Sulphur le\lde :
S C) Caibon Tettaﬂuoude and Nmous oxtde i D) Ca1bon dl()\lde and Methane B

0.
o

-“32_. '

33.

_ lndlan state w1th the longest coast hne is .

A) GujaLat i:_' S B) Kelala -:- C) Tamtl Nadu . :-D) And.ht'a'_l__’l.'adesh .

'_.The state tlnough whlch Tlople of Cancet passes is : R
A) Utta1 Pladesh b B) Gujalat i :_ C) Blhat R D) Assa_m ERARE
'_The state w1th hlghest u1ban populatlon is : : __ il

: :A) Uitat Pradesh " B) Punjab i C) Mahalashtra D) Karnataka -

: 'Arundhatl Bhattachalya is_ o S R (A

: ';A) the Chanpel son of Natloml Commlssxon f01 women

e B) Chairperson of Human nght Commlsswn s

- Q)the CEOOf ICICT = - RN

. D) the ﬁrst woman Chalrman of the State Bank of Indla

" The Chanman of the 2(}lh Law Commlssmn of Ind;a Is . .' . '. -

A) Justice Ajit Prakash Shah . - B) Justice Lella Seth o
C) Justice RM.Lodha = L _D) Justice Markandeya Katju .
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34.

' Ran_]an Mathal is the o

A) Chairman and Managing Director of Vljaya Bank
B) Foreign Secretar y of India who has taken over as the countiy 5 next ngh
Commission to U.K, ' : :

C) former F oreign Se01eta1y of Indla who became Indla 'S envoy to USA

'_tD)CEOOfnnPRo =

o N
ERNERT Y MAUSOLEUM coded in thal langlmge?

5 3Who was cmwned the Mtss Umve;se 20139 S S
R _'_:_ﬁ'_j'.A) Olivia Culpo B B) Man Moghe C) Gabnela Isle1 B __"._D)' Patricia Roderigues .
36, _Complcte the series S - . N i T A TR
- 23B-6-FG-5D-8- HI TR

_____:_'_'A)C74E9 S B)D86C7 '-C)E87D9 D)W87I6
37, :"’Select the pan ef w01ds ﬁom the f0u1 altetnatwes that has same 1elat10nsh1p as the |
oF o given pair has TR S o '

" Given pan—Authentlcu} Apecryphal

..:-'A) Integrity : Hypocnucal ) Aséettlveness Dogmatlc S |

i C) Artlﬁce Deceptlve __3__._1_':: : D) Wt_ckednes_s __Nefa_npus__’ S o
1)VT 11)MQ i 1n)PR v)DF "\r)FG R
"t;zx)ig ._; 13)1n) -j ;;t;*; (3)1v) | :' D))

-In a celtam code EXECUTIVE 18 wntten as TCIEUXVEE then how 13_

. A)AUUCOSLMM ':_;;;'j;_-” B)LSEUOAUMM

- OAUEUOSEMM ;*F’[uﬁ*fuf:_ D)SLUEOAunmt.:TQ"fL7"b.

o 40, _'Lookmg at a pomalt ofa man, Hatsh sa;d “Hls n1othe1 is the w1fe of my fathe1 s son B

(s “Brothers and sister Ihavc none”’ CAL wh_osc poma;l \‘."dSHdlSthO}\lll}:, al? o
TR 'A) his cousin B) hlS nephew C) his uncle : ';'3 D) hls son

i 41 ; --Sudhanshu is as much oldel than Kokda as he is youngel than Palveen Nltln is as old_ : RE

L as Koklla Wthh of the following statements is wmng‘? DR

S :..A) Kokila is younger than Palveen ' B) Nitin is youngel than Palveen

=0 Patveen is not the oidest RN D) Sudhanshu is olde1 than Nltm : Z'. o
42, .i:_:A petson starts ﬁom pomt A and waiks 3 km eastwalds B and ’then tums leﬂ and_ S
S0 travels thnce that distance to leach C.'He agam turns feft and ttavefs five times the _
- :dtstance he coveled between A and B and Ieached his destlnatlon D The shortest_ BN

L distance between staitmg pomt and the destlnatton is

e A) 12km G B)15 km s C) 16km ' D) 181““

43,
Siia male where: o
(1)1ectangte1eplesents males L

In the Fig who aue nelthel a Clvtl servant nor educated but is mban and not o

(ii) tuangle 1ep1esents educated '_ s =
(iii) cncle represents ulban '_ o

(iv) Square 1epresents 01v11 selvants e

A2 B3 06
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44,

45

Select the combination of numbers so that the letters so ananged accmdmgty wtll
form a meaningful word.

RV TNDETA OI

12_3_4_5678 9 0

A) 5102674938 B)5180427639 . )5617283094 - - D) 7450823196

‘In the followmg anangement if total nmnbet of palrs of adjaeent symbol and lettel is

o (X) total number of pairs. of adjaeent letter. and numbel is (Y) and total nu;nbet of
: .pans of adjaeent number and symbol 1s (Z) ate wntten in lhe descendmg or de1 whtch o
_;of!he followmg \V]i} HldlLElte tho same : D

CAXY,Z BX, z Y C C)Y X z SN '; D)X*Y“Z

46-..:'

36 vehtcles are palked in a 10w Afte1 ﬁrst car, there ES one seoote1 After the second

- car, there are two scootets After thnd car the1e are three scootels and SO on. Ftnd how j s
. many scooters are in the second half of the row. : 2 ' :

Mo Bz gl DIE

- 47,

50,

TR |
15, The difference between the ;emannng two 1ntege1s 1s 12, Whlch is the hlghei . RERIAET

A monkey chmbs 30 feet at the beginmng of each hom and 1ests for a whlle when he B '_ E
_.-_.Shps back 20 feet bef01e he agaln starts ellmblng in the beglnmng of next hou1 1fhe ; i _
. begins his ascent at 8. 00 A, M at what tnne wﬂl he ﬁlst touch the ﬂag 120 feet h1gh A

i ﬁomthegtound‘? S S SURVIE
- A)400PM B)SOOPM S C)600PM D)noneofthese

l_l I !

-__:'_-If '>’ denotes ’+' "<’ denotes '__' o denotes =, '/\ denotes x' '_ ! denotes =t
':-"denotes 'md—denotes '<' choosc the coucct siatement : SERRI

A) 13>><642=3M B) 9>5>4-18+9>16

) 9<3<2>1x8M2 . ;. };. - D) 28+4M2=6M4 +2

"Replace the questlon matk (‘?) w1t11 one among gtven altematwes

3.8 10 e B0 B IS S
6.1 56 19 | 2 120 (.0

..335x212x4225 225x735_(21) : L SRR
PRI ) [ 0 125 D)65 S

The avetage of foui positive 1ntege:s 15 72 5. The Inghest mteger is 117 and lowest IIS

' of these two mtegels‘?

52,

- 54,

"The ratlo of La).mi s age to the age of he1 1nothe1 lS 3 11 The diffetence between BRI
. their eges is 24 years. The ratio of their ages after 3 years will be e
A B2 Ok D25

i 53 g 'A wholesalet sells 20 pens at the market puce of 16 pens | to a 1eta11e1 The 1eta11e1 in '_ SRR

turn sells them at the matket puce The gain per cent of the 1eta1ie1 is

A)20% B)25% o O3% D)BS%

From a pomt w1th1n an eqtulatelal tnangle perpendleulals drawn to three 31des are 6 .
cm, 7 cm and 8 cm respeetlvely The length of cach 31de of the triangle is o

A) Tem | B)lO Som 0 14Jmem . D) “"["
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55, The difference between compound interest and simple interest at the_ééme rate on
Rs. 5000 for 2 years is Rs.72. The rate of interest per annum is -
A) 6% B)8% C) 10% D) 12%
56)  Consider the following C-function:
' void ago(void)
o for (int i = 0; i <_5,‘ i++)
VAN ,
SPURaT .S.’(IFIC‘ int sum =0;
AR sum+-r (AN
3 -

EER pi ml‘f st = ‘V d\r.'” sum)
SO
< 'What is prmted when the ago( ) functlon is executed') EE -
i CAYsum=0 CB)sum =16 - i C) sum = 30 D) Thls code wﬂl not compﬂe
Y Consider the following C-code: . L | _
- ;'#defnetnple(x)x ol JECTRRIERey

L voad ago(vo:d)

' '.mt\—5 SRR ST
- 2 mff('%mwe.' = /d\n" n y)i’e(\ +1))
What is plmted when thc ago()ﬁmctlon is executed’? G e e
o ~A) Answel 8§ B Answer = 1670 Answel = 18 D) Answel =20
. 58) Wthh of the followmg statemcnts about chalactex auays inC 1s/ale t1ue‘? R
FETEENE Inde\mg starts froml S : - Spe Ui
© il Character auays are always teunmated by the null—byte L
' .o.dii, o The maximum size of the 'may must be defi nccl at compl!e time,
S A);oniy : B) ii, Only ~C) iii. Only - D) None 01 them

o “59) C0n31del the followmg C- code Bie

o #def‘ ine AIAAS]ZE 50
st uchomt o
{ _
_ o Int x;
: 'struc_r Polygon
L mtnPorms RN e
S sty uct Pomt pomfs[MxLXSIZE] _'_ '
: vord go(vmaD
{
; 9)‘1 uci PoiygonP

What is the couect way to access the X- comdmate of the f'ust point in ihe Polygon

represented by the variable P?
A) P[0].x B) P[0].points.x 0O P7p01nts[0].x D) P.points.x[0]
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60) Consider the following p_seud0_~code:

if(Y <0)
{
X = ."X,'
. Y=-Y;
Z=0; :
o while (Y > 0) -
=2+ X
Y Y 1
7

o Assume that X, Y and Z are 1ntege1 vanables and that X and Y have been 1mtlahzed. _ R

“Which of the followmg best descubes what this code segment does? - o
“A) Sets Z to be the sum X + Y .. 'B)Sets Zto be the absolute value of X o
) Sets Z to be the value of Y ...~ = D) Sets Z to be the ploduct X * Y C

: 61) C01151de1 the array declalatlon int *).[ ]
’ - “Which statement best describes this declalatlon'?
“A)x is an array of integers whose Values are pomtels
. B) x is an aray of pointers to integers. - SRS
C)xisan miegel whose value points to an auay Sy
e D) X is a pomtei to an auay ofintegels S

162) Con51de1 the followmg C funetlons RS S S
: chm process(chm 5) S
R cha} "i =38
whn’e * s)

vhrie ( rsdrglt( "5))
o ."t = .s+_4_—_, RO
g %

o ret_tgrn 1
vo}dgoo'a'(veifv SEG S
-
: cha: date[]UO] R
~strepy(date, "]3!1'1 November 20]6'9
' _p! m!f( "Yos\n”, p) ocess(dare) )

: What is prmted when the good( ) functlon is executed’?

A thNovember--. S 3 B) ovembe1 2016 L
- C) 13th November 2016 : I D) 63‘[11 Novembel 2016_. o
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63)

6 1 e
R A) (11010010001)2 B) (12210 1)4 C) (644 1)8 . D) (1A4 4)16 RS

In structured programming, a program is divided into modules. Coupling and cohesion
describe the characteristics of modules. A good decomposmon should atternpt to ‘
A) Maximize coupling and Minimize cohesion : : S '

B) Minimize coupling and Maximize cohesion -
C) Maximize coupling and Maximize coheswn B
D) Mmmnze couphng and Mlmmrze cohesron R

..In Object Ollented Plogrammmg, base eiass ] T membe;s can be
. _aecessed only on the base-class def' mlron or in derived- class deﬁmlrons SRR
A) Pubhc o o B) Puvate o C) Protected D) Statlc _3 L

Three of the fo]lowrng numbers are same, Whrch one is d1ffe1ent'7 S .': '

.What is the correct order of the operatlons in the instruction cycle‘7 FENRT
~A) Fetch, Execute, Decode, Update - B) Fetch, Decode, Update Execute

O) Fetch Update Decode Execute [ - D) Fetch Decode E‘cecute Update

Comrnunrcatron between a computer and a keyboard 1nvoives R transrmssron
A) Srmplen B) Haif duplex C) Full duplex 'j D) Autornatlc

Cookies were de51gned as a 1esponse to whtch problem in the ougmal desrgn of HTML _' -

_ '-and HTTP? .

o A) Lack of p1 1vacy and eonﬂdenttahty in vrewmg web pages : o

- B) Inequality of information between clients and sen_fers

i " C) The open and distributed nature of the Internet -

- '6_9)_ -
U content?

' 'D) Persrstenee of state between web-sessrons '

Whlch of the foilowmg HTML code wr[l aftect the vel‘ucal ahgnment of the table' T

& ;'A) <td stylem vertlcal allgn nnddle >"1e‘<t goes hete </td> '-

-~ B) <td valign= “center”>Text goces hele <td>.
“C) <td style= “text- ahgn center’ >Text goes here.</td> -

o D) <td ahgn~ “middte”>Text goes hete </td> ;

B 7(5)

71)

Match the foliowrng . : : - SRS .
‘a) HTML : o Q) . Protocol for sendmg electromc malf on the Internet e
; 'b) HTTP s (ii)__._ ' Orgamzatlon that charges a fee to enable 1nd1v1duals and
- = _ organlzatlons to connect to the Internet o _' - :
' -'c) ISP 5 (111) ~Set of tags and related rules that are used to create Web
pages. S RTU R E S PO R R _
d) SMTP i _:(i\_r)' :_'Internet standard that supports exchange of mformation on
- Ayay(iv) b)-()) o)- (i) d)-(iiD) B) a) (111) b) (IV) C) (11) d) 0}
- O a)(iiD) b) (ii) ¢)- (W) -0 D) a) (lV) b) (1) C) (111) - (ﬂ)

The process of 1cwr1t1ng paﬂs of a ﬁle in contrguous seotors on a h'nd dlsk to 1ncrease
the speed of access and 1et11eval is known as: o :

A) Format - S B) Defragmentatron

C) File Allocatlon Table (FAT) SRS D) Conﬁgulatron B
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72)

Which of the following is FALSE?
A) ASCII is a fixed-length code . o : : :
B) A Java compiler converts class deﬁmtlons wnﬁen in the Java plogrammlng
language into byte-codes that are hardware-independent - &
C) Java is an object-oriented language that supports class varlables class methods
instance variables, instance methods, and multlple 1nher1tance _ '

- D)There are 256 dtffelent sequences, or anangenlents of length 8 that can be_
g .1ep1esented byabyte L : o . : : -

Wh]ch is the couect 01de1 of 0pe1ations fo1 system staitup” : B TSN
A Power supply sigual, BIOS POST test, OS kernel load, CMOS eo;npauson S
“B) Power supply signal, BIOS POST test, CMOS compauson OS kernel joad
~C) Power supply signal, OS kernel load, CMOS compatison, BIOS POST test

' D) Powe1 supply s1gnal CMOS companson 0s kelnel load BIOS POST test '

e 74)

'-;{755

By puttmg multiple CPUs on a smgle chlp, ch1p makeis have c1eated

‘A) parallel processors - o “B) mult1~coxe pxocessors O
' C) CPU duphcate pxocessms = S '_ D) clusters s
_' _What is 1t called when you can 1e1nove and 1eplace dev1ces w1thout tmnmg off you1
o c01npute1'7 R -
P A) Hot swappmg B) Plug—N Play : _' C) Bay swap D) USB swappmg

: Whlch softwale is ﬁce to use fm a ’mal peuod but 1equnes some ;mmmal paylnent -
- after the trial peri fod?

0 SA) Freeware ' B) Ptopx.letaly Softwale C) Open Soulce Softwane D) Shaaewaw G

)

)

The 1anguage ‘which has 1ecently become the . defacto standald f01 mterfacmg

k f;_appllcatlon p1og1anls with relational dalabase system is

';mmwmgj Bmml,;__ Qnmw;j;~nﬂmn
In RDBMS an ennty set tlml does not have suiﬁcwnl atlubutes to ioun a puma; y" o '
o keyisa G SR
CUA) stlong entity set SRR P S B) weak entity set SRl
_.C) Stmple entlty sel. - 5 T f D) prm;zny entlty set - '

f?f'éq):

8D
" properties:

: _.A V1rtual 1elat10n composed of columns flom one or m01e 1ela’ted 1e]at1ons is called PR

: .'a(n)

CA) Index B) V1ew AR C) Relat1onal map : D) Base table i
-"The consnamt that no key attubute (column) may be null is refened toas;

o A) Refelentlal 1ntegnty RN - B) Multi-valued dependency
'-C) Entny mteguty S D) Functlonal dependency

In the eontent of databases ACID test 1mpl:es t1ansact10ns should hold followmg -

A) Accountablhty Comnntment Independence Dmabllity o
“B) Atomicity, Commitment, Isolation, Durability =~ -

0) Atonncny Con31ste11cy, Independence, _Du1ab111ty

= D) Atom101ty, Consxstency, Isolatlon Du1ab1l1ty

8)

ln RDBMS 1dent1f) the factm wlnch enfmces a relat1on m 3NF ‘P .
A) Every ncn-key attribute is fully functlonally dependent on pnma1y key
B) Every non-key attribute is partially dependent onsuperkey -
C) The domain of attribute must include only atomic values, :
D) Every non-key attnbute is non- t1ansztwely dependent on plnnary key.

Pr-?. _.;Pa_ge -_“0._-.0.f. 24 SRR




83)  What result set is _1'e__tur_ned_ fro_m the following SQL query? - '

select customer_name, telephone
from customers - e '
where crty in( ’Agm’ ’New Delhi’, ’Chandrga: ] )

A) The customer '~ name and telephone of all customers '_ SRS

- B) The customer name and telephone of ali customels hvmg in e1the1 Ag1a New

- Delhi or Chandigarh : '

- ~C) The customer __name and telephone of all customets l;vmg 1n Agla New Del!u 'md '

" Chandigarh o : - - '
D) The customer name of aﬂ customels hvmg m e1the1 Agta New Delh1 or
'Chand1garh ERER IS IR TR R SRTRTRA - . o

B -8_4). " Which of the followmg is thc most appiopnate format f01 graphlcs that are to bc e
. embedded within an Internet document’? B

. A)BMP o B) TIFF C) GIF ERiaH D) HTML .' _
- 85) Vntual machmes a1e used in Cioud Computmg by Amazon to P
1L . Protect users from each othel _ : A
STL - Offer more pricepoints - R
HIL Slmphfy mtloductlon of new and faste1 ha1dwa1e it R -
R A)Iand m. B)Mand I C)Iand HI D) I II and IH _
86) . What doesBCC means in E- Mali‘7 B '. i R B
o A)Black Carbon Copy AT B) Bhnd Catbon Copy
: -C) Busmess Computet Center R D) Busmess Computet Cald

: 87) _ _. A stmage tec]mlque that a DVD ROM uses to achleve a h1ghe1 stmage capac1ty than

a CD ROM 1s

: --] Afak.'ng ﬂze dl.sc demu by packmg Ihe pn’.s closu fogulze i
P/ Usmg hwo Iaye;s of pits . ORI

Il Using both sides of the dtsc S T e I e

'-_A)Ionly B)I&H C)II&III oD L& oo '

88 From what has the tetm ‘W1~Max been dezwed’? 3 i
- /A) Worldwide Interoperability for Microwave Access ol
“ o B) Worldwide Interconnection for Microwaye Access R N
~C) Worldwide Intetchangeablhty for Microwave Access . .
; D) W01ldw1de Intetconnectzon for Multlple Access

o '_89).. System p10g1 ams such as COmp]lBlS are de31gned so that they ate e
SR A) Recuxswe B) Re entelable : C) Non- reusabIe D) Seually usabIe

:90) Cons1de1 the 1egulat exptessmn R (ablabb) bbab

Whlch of the followmg strmgs is NOT in the set denoted by R'? e
A) ababab SR B) abbbab s C) abbabbbab '_ D) ababhabbbab

'91) G abstiactlon is used in both stluctuned des:gn and Ob_]C'JCt onented desxgn,
while abstraction is only used in object ouented design,
A) Fast, Slow B) Data P10cedulal 0 Plocedmal Data _ D)Off lme On hne

92)  Which UNIX system call is used to create anew process? o
A) create() B) new() ) open() D) fork()
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93)

_ "

95y

96)

Which of these are the 5 generic software engineering framework activities?
A) Communication, Planning, Modeling, Construction, Deployment

B) Communication, Risk management, Measurement, Production, Reviewing
C) Analysis, Designing, Programming, Debugging, Maintenance .

D) Analys1s Plannmg, De&gmng, Proglammmg, Testmg E

What ASP NET Obj€Ct encapsulates the state of the chent and the browser‘?

A) The SGSSIOH Ob_]eCt R . - i B) The Appllcation ObjeCt ; '.: . B
: _C) Thc Rcsponge objeot S D) The Request objeel S

L# eumpllel ploduu,s 1111e1medmte code cailed as: - ' S
A) Byte Code .- B) MSIL - C) Hex Dump D) Entel Assembiet _

-In systems pmgtammmg, an mtemlpt is a signal to the p10eessm emlited by hardware
~or software indicating an event that needs 1mmedlate attentlon Whlch of the

S foliowmg s1tuat10ns w1ll genelate an mtexmpt‘? S

oL :.T he ham’a’r ive has Iocated dafa and 1s1eady fo h ansfef i

AL " An overflow has occurred in the r zmnmg of a pr ogran.
LA key is pressed on the keybaa.rd :

AV, A program has run om of menory.

o ."-Assummg the mstance above is vahd wh1ch of the followmg functional dependenmes o

L _:.'A)IandIVonly (e .."g)'lanammy |
C) Hand IV Only o e D) All Ofl H HI anle

COllSldel a 1e1at10nal database schema w1th the followmg 111stance of a 1elat1011_
R(AB C) i ; : _ : L .

—

B must be FALSE?

LA—B i
LA —> o
JHLAB =5 C s G e
A)Ionly B 1l only e c)'I_au_d_n D) ju é’r_sd 1_11
Conslde1 thele]ation L B A A R RSP A P

P: 0](pno, pname budget czr) 2, wheie pho :s a pr imary key and rhe followmg SQL quer y
- SELECT city, cozm!(pno) AS fotp: 01, sum(budger) AS torbudget )

i " FROM proj

' 'GROUP BY c:ly -

"'The SQL query PR R SRR . : S
- A) Computes the number of e1t1es havmg at least one p1 O}eet and the total budget over '

- all projects. Ll -

" B) Computes, for each 01ty, the number of pIO_]eCtS that aie located in that 01ty and the SR

total budget over all projects in the city. -
C) Computes, for each city, the number of pIO}GCtS lhat are located in that cny and the

total budget over all projects in all the cities together. '
D) Computes the total number of projects that are located in all the cmes togelhel and .
the total budget over all plO_]ECIS in ali the cmes togethm S

Pr-7 Page 120f24 .




99)  In some systems, when there is no more free memory, the system automatlcally
determines what is in use and reorganizes memory so that the avallable memozy is in
one big contiguous block. What is this process called? = ..

A) Garbage Collection ' B) Sewage treatment
C) Data Structure beautrﬁcatlon R D) Memory Leak :

- 100) You have a class C network and you need to desrgn 1t for 5 usable subnets wrth
- each subnet handlmg a mmrmum of 18 hosts eaeh W]nch of the followrng network
“masks should youuse?

B A)255255224O B) 2252552400 C) 255255255224 D) 225255255240 &
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